R ERAHENEF T ER S ES S

#H 5 IEH B 0] B |RERE BX
—FHREFE | 60K REBHZFM/NE 3D | ¥k | 10.76 1
—FHREFE | 60K REBHZFM/NE 3D [ sRAgH [ 11.10 2
—FRUFH | 60Kk | REBHFRMTE/NE 3B | Bk | 11.27 3
—FHREFE | 60K REBHZFM/NE 3A ots | 11.32 4
—FRUFHE | 60K | REBHRMTE/NE 3C | BRiKiE | 11.94 5
—FRAFHE | 60Kk | REBHRMTE/NE 3C [ 2iERF | 12.03 6
—FHREFE | 60K REBHZFM/NE 3C_ | 8IRR | 12.09 7
—FHREFHE | 60K REBHZKM/NE 3B BE | 12.39 8

#25 IEH B 0] B |RERE] BX
—FREFAE | Bk REBHZKM/NE 3D | 8lfrf | 9.50 1
—FRUFA | BoR | REEHFRWTE/NE 3D | BEFK | 9.30 2
—FREFAE | B REBHZFM/NE 3D | ElHt | 847 3
—FRUFA | BoR | REEHFRWTE/NS 3A | BEEM | 845 4
—FHREFAE | B REBHZKMNE 3B | B¥H | 799 5
—FRUFA | BoR | REREHRWTE/NS 3C | EFRE | 7.96 6
—FRUFA | BoR | REEHFRWTE/NE 3C | R=eg | 7.93 7
—FRUFA | BoR | REBHRWTE/NE 3D | Uk | 7.90 8

25l IEH B 9] M2 REME| BX
—FHREFH | 60k | REBHRMTENE 3C [ BBFBH | 10.94 1
—FHREFH | 60k | REBHRMTE/NE 3E | &E#& | 11.18 2
=FHREFH | 60k | REBHRMTE/NE 3D | 2E=# [ 11.25 3
—FHREBEFHE | 60K REFHZFM/NES 3D [ B&FF | 11.27 4
—FHREBEFHE | 60K REFHZFM/NE 3A | EFEER | 11.30 5
—FHREFHE | 60K REFHFM/NE 3B | ZEmiE | 11.39 6
—FHREFH | 60k | REBHRMTE/NE 3E | MEME | 11.46 7
—FHREFHE | 60K REFHZFM/NS 3C_ | &Ims | 11.50 8

25 IEH 21 9] HE | REME| BX
—FHREFHE | BIR REBHZA/NE 3D BRIE | 17.20 1
—FHREFAE | BIR REBHZA/NE 3A | BEE5% | 1461 2
—FHREFA | gk | REBHRWTE/NS 3C | Z=4tta | 13.80 3
—FHREFA | gk | REBHFRWTE/NE 3D | %A | 13.13 4
—FREFHE | BIR REBHZA/NE 3C | 5R#TIE | 13.04 5
—FHREFAE | BIR REBHZA/NE 3D PRES | 12.57 6
—FHREFA | gk | REBHRWTE/NE 3E =Eh | 1247 7
—FHREFA | gk | REBHRWTE/NE 3A | BROAER | 11.90 8

#25l IEH 21 B 5l M2 RERE| BX
eEkZF4H | 60K REBHZA/NE 4A | 0 | 11.35 1
eEkZF4H | 60K REBHZA/NES 4D | &3 | 11.63 2
eEkZF4H | 60K REBHZA/NES 4A | BRRE=E | 1164 3
MERXZFH | 60K | RESHXMPTE/NE 4D | ®sE | 11.79 4
eEkZF4H | 60K REBHZA/NES 4C mE | 12.09 5
MERZFH | 60K | RESHXMPTE/NE A4E | =R | 1211 6
eEkZF4H | 60K REBHZA/NES 4B | ERovia | 1212 7
MERXZFH | 60K | RESHXMPTE/NE AC | B¥EF | 1241 8




R ERAHENEF T ER S ES S

#H 5 IEH B 0] B |RERE BX
MeEskZ 4 | 1000k | REBHXMATE/NE 4C | EFf1EE | 1855 1
MeEskZ 4 | 1000k | REBHXMATE/NE 4B | R [ 18.65 2
MeEskZ 4 | 1000k | REBHXMATE/NE 4D | Bk | 18.72 3
MEARZFAH | 1002k REBHZFM/NE A4C | #F1E58 | 1941 4
MEARZFAH | 10028 REBHZFM/NE 4D | =iz | 19.68 5
MeEskZ 4 | 1000k | REBHXMATE/NE 4C | EfrRiE | 20.03 6
MEARZFAH | 1002 REBHZFM/NE 4A | =518 | 2148 7
MEARZFAH | 1000 REBHZKM/NE 4B | JBEERS | 21.55 8

#25 IEH B 0] B |RERE] BX
MEARLFAH | BRI REBHZKM/NE 4D HE | 1375 1
MEARLFH | BRI REBHZFM/NESE A4C_ | FE= | 10.61 2
MERLFHE | BRI | REEBHXMFTE/NE 4C_ | FIE¥E | 10.50 3
MEARLFH | BRI REBHZKM/NE 4A | =iRiE | 9.26 4
Mk 4 | BARX | REBHXMATE/NE 4D | %BiEE | 9.19 5
MERLFHE | BRI | REEBHXMFTENE 4A | s | 8.97 6
MERZFHE | BRI | REEBHXMFTE/NE 4B | R=& | 8.00 7
MEARLFH | BRI REFHZFM/NES 4A | RMWE | 791 8

25l IEH B 9] M2 REME| BX
MERLFH | Bk &= REFHFM/NE 4A | MBI | 2.08 1
MERLFH | Bk &= REFHFM/NE 4B | EBEEBH | 191 2
ek rHE | Bt 2 | REBHIATE/NE AC | BfTHE | 1.85 3
ek rH | Bt 2 | REBHEIMATE/NE 4A | BIIE® | 179 4
MERLFH | Bk &= REFHZFM/NE AD | BEER | 157 5
ek rH | Bt 2 | REBHIMATE/NE AD | &5k | 149 6

25l IEH B 9] M2 REME| BX
MERSF4H [ 60K REBHZA/NE 4A | BURE | 10.71 1
MERSFH [ 60K | REEBHRMPTE/NE AD | FEfE 10.99 2
MERSFH | 60K | REEHXMPTER/NE 4A | BR#5E | 11.29 3
MERSFH [ 60K | REEHXMPTE/NE 4B | B=hs | 1135 4
MERSFH [ 60K | REEHRMPTE/NE AE | X | 1144 5
MRS F4H [ 60K REBHZA/NE 4C | Bz | 1147 6
MERSFH [ 60K | REEHXMPTE/NE 4D | BlE= | 1147 6
MERSFH | 60K | RESHRMPTE/NE 4B | RI&ZF | 1148 8

25 IEH 2 9] HE | RERE| BX
MERSFH | 1000k | RESHXMPTE/NE 4C | R¥E2 | 17.18 1
ERS T4 | 1000k REBHZA/NES 4A | BirAE | 1771 2
MEARSFH | 1000k | RESHXMPTE/NE 4B | Riaf& | 18.08 3
ERS T4 | 1000k REBHZA/NES 4D | 8BS | 1836 4
MERSFH | 1000k | RESHXMPTE/NE AE | =tEfK | 18.64 5
MERSFH | 1000k | RESHXMPTE/NE 4A | BB | 1870 6
MERSFH | 1000k | RESHXMPTE/NE 4D | &E#Ek | 19.14 7
RS T4 | 1000k REBHZA/NES 4A | AR | 2010 8




R ERAHENEF T ER S ES S

#H 5 IEH B 0] B |RERE BX
MERSEFAE | BARXK | REEHXMATE/NE 4A | BBEER | 17.33 1
MEARSFHE | BRI REBHZFM/NE 4A | BXE | 16.13 2
MEARSFH | BRI REBHZFM/NE 4D | =& | 1552 3
MEARSFH | BRI REBHZFM/NE 4A | EFE# | 1515 4
MEARSFH | BRI REBHZFM/NE A4C_ | BREEX | 13.56 5
MEARSFHE | BRI | REBHXMFTE/NE AC | ZwBE | 13.26 6
MERSFHE | BRI | REBHXMATE/NE AE | SRULET | 1233 7
MEARSFH | BRI REBHZKM/NE 4B | B | 12.32 8

#25 IEH B 0] B |RERE] BX
MERSFHE | Bk &= REBHZKM/NE AC | MBAE | 239 1
MERSEFHE | Bt 2 | RESHEXATE/NE 4B | ZEe51E | 236 2
MERSFHE | Bk &= REBHZFM/NE 4A | FE= | 210 3
MERSFHE | Bk &= REBHZKM/NE AD | =EEBE | 1.95 4
MERSEFE | Bt 2 | RESHEXBTE/NE 4D | B&® | 1.85 5
MERSErE | Bt 2 | RESHEXBTE/NE 4A | BIgRE | 1.77 6

25l IEH B 9] HE | REAE| B2
hFERUFHE | 600k | REBHRMTE/NS 5B | ¥E&lE | 10.83 1
hFERUFHE | 600k | REBHRMTE/NS 5D | #@i¥ | 11.07 2
hEFERLFE | 60K REFHFM/NE 5C | #£ZE 1131 3
hEFERLFE | 60K REFHFM/NE 5B | =38 | 11.36 4
hFERUFHE | 600k | REBHRMTE/NS 5C | #iFmE | 11.51 5
hFERUFHE | 600k | REBHRMTE/NE 5B | ¥EklE | 1167 6
hFERUFHE | 600k | REBHRMTE/NS 5F | fhit= | 11.87 7
hERLFHE | 60K REFHFM/NE 5B | JIfEH | 12.00 8

25l IEH B 9] M2 REME| BX
hFRLFAAE | 100K REBHZA/NE 5B | FELE | 17.93 1
hERZ A | 100k | REBHRMBTE/NE 5F [ #&f#& | 18.15 2
hFRLFAAE | 100K REBHZA/NE 5B | &= | 18.60 3
hERZ A | 100k | REBHRMBTE/NE 5E | =IEf& | 18.93 4
hERZ A | 100k | REBHRMBTE/NE 5A | GBBFR | 19.28 5
hFRLFAAE | 100K REBHZA/NE 5D | #==E | 1931 6
hERZ A | 100k | REBHRMBTE/NE 5E | sRiElE | 19.84 7
hERZ A | 100k | REBHRMBTE/NE 5F | &&&% | 20.67 8

25 IEH 2 9] 2 | REME R
hFRLFAE | 200K REBHZA/NES 5D =% | 36.77
hFRLFAE | 200K REBHZA/NES 5A | =8| 37.67

hERZFE | 200k | REBHRMBTE/NE 5A | ##%&de | 38.05

— | —

hERZ A | 200k | RERBHRMBTE/NE 5C | 5RAUE | 39.04

hFRLFAE | 200K REBHZA/NES 5B | RIERE | 4270

hERZ A | 200k | RERBHRMBTE/NE 5B | BEFEHN | 42.85
hERZ A | 200k | REBHRMBTE/NE 5G| Eigxll | 42.93
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R ERAHENEF T ER S ES S

#H 5 IEH B 0] B |RERE BX
haFfkZ A | BEX | RERHRBTE/NE 5C [ BEX | 1490 1
hFERUFH | BEXK | RERHRMTE/NE 5B | E& | 13.36 2
hFERLFAH | BEIK REBHZFM/NE 5B =iRfE | 13.14 3
hFERUFHA | BEXK | RERHRMTE/NE 5D [ 225 | 1280 4
hEFERL 4 | BEK REBHZFM/NE 5B | RES | 1244 5
hafki A | BEX | RERHRBTE/NE S5F BRFF | 1211 6
hFERL A | BEK REBHZFM/NE 5A | ER | 10.64 7
haFfka A | BEX | RERHARBTE/NE 5F BR22E: | 10.43 8

#25 IEH B 0] B |RERE] BX
hFERUFHE | B 2 | RERHRWTE/NE 5G| Bl | 290 1
hEfRZ A | Bk & REBHZFM/NESE 5B | fulEfy | 2.66 2
haFfRa A | B & REBHZFM/NE 5A [ JER | 224 3
haEfRa A | B & REBHZKM/NE 5D | BF¥ | 209 4
hFERUFHE | B =2 | RERHRWTE/NE 5A | =8B | 209 5
hFERUFHE | B =2 | RERHRWTE/NE 5D | BXRE | 201 6
hFERUFHE | B =2 | RERHRWTE/NE S5F | FiEgH | 1.99 7
hFEREFAE | B =2 | RERHRWTE/NE 5C 5 1.97 8

25l IEH B 9] M2 REME| BX
hEFERSFHE | 60K REFHFM/NE 5A | FRi%BE | 9.84 1
hEFERSFHE | 60K REFHFM/NE 5D | #J5R | 10.78 2
hFERSEFH | 600k | REBHRMTE/NE 5G| fh#Ff7 | 10.85 3
hFERSEFH | 600k | REBHRMTE/NE 5A | EiF& | 10.90 4
hEFERSFHE | 60K REFHZFM/NE 5B | BN | 10.98 5
hEFERSFHE | 60K REFHFM/NE 5A | £—I18 | 11.00 6
hFEREFH | 600k | REBHRMTE/NE 5E [ KR#EZ | 11.24 7
hFERSEFH | 600k | REBHRMTE/NE 5F | =PI | 11.31 8

25 IEH 21 9] HE | REME| BX
hFERSEFAH | 100K REBHZA/NE 5A | =BA% | 17.37 1
hEFERSFAE | 100k | REBHRMBTE/NE 5C | B8 | 1746 2
hEFERSFAE | 100k | REBHRMBTE/NE S5E | =#¥E5 | 17.65 3
hFRSEFAH | 100K REBHZA/NE 5A | FIBER | 1791 4
hFERSEFAH | 100K REBHZA/NE 5B | FGRREE | 18.14 5
hEFERSFAE | 100k | REBHRMBTE/NE 5F | =XE | 18.22 6
hEFERSFAE | 100k | REBHRMBTE/NE 5A | MEtoE | 18.24 7
hFRSEFAH | 100K REBHZA/NE 5B | & Edh | 18.29 8

#25l IEH 21 B 5l M2 RERE| BX
hERSFAE | 200k | REBHRMBTE/NE 5C | ZWEH | 37.85 1
hFRSEFAH | 200K REBHZA/NES 5B | BRX% | 38.00 2
hERSFAE | 200k | REBHRMBTE/NE 5B | &S | 39.53 3
hERSFAE | 200k | REBHRMTE/NE 5G| HA5¥E | 39.58 4
hFRSEFAH | 200K REBHZA/NES 5A | MouEk | 40.00 5
hERSFAE | 200k | REBHRMTE/NE 5D | BEBAYE | 44.77 6
hERSFAE | 200k | REBHRMBTE/NE 5A | BRE%& | 46.36 7
hFRSEFAH | 200K REBHZA/NES 5C | =¥ | 4937 8




R ERAHENEF T ER S ES S

#H 5 IEH B 0] B |RERE BX
hFEREFHA | BEXK | RERHRMTE/NE 5A | #4817 | 23.95 1
hFEREFAE | WEK REBHZFM/NE 5D Stk | 21.76 2
hFEREFA | BEXK | RERHRMTE/NE 5D | E=H7 | 19.63 3
hFEAErAE | BEX | RERBHRBTE/NE 5E | 2IF1E | 18.57 4
hFEAREFAE | BEX | RERHRBTE/NE 5G | 18.40 5
hFERSEFAE | WEIK REBHZFM/NE 5B |S=Ef| 17.88 6
hEREFH | WEIK REBHZFM/NE 5D | #&EE | 1671 7
hFERSEFHA | BEXK | REBHRMTE/NSE 5F | th&% | 15.02 8

#25 IEH B 0] B |RERE] BX
hEREFAE | B & REBHZKM/NE 5B | ®EFEh | 295 1
hFERSEFH | B 2 | RERHRWTE/NE 5G| Boms | 2.95 2
hFERSEFH | B 2 | RERHRWTE/NE 5F BREE | 270 3
hEREFAE | B & REBHZKM/NE 5A | £EZ& | 255 4
hFERSEFH | B =2 | RERHRWTE/NE 5A | REEXZ | 244 5
hERSEFAE | B & REBHZKM/NE 5D | &=F#& | 225 6

25l IEH B 9] M2 REME| BX
NERZFE | 60K REFHZFM/NE 6A | farlgx | 10.55 1
NEHRLFE | 60K REFHFM/NE 6B | 4R | 10.90 2
NERUFH | 600k | REBHRMTE/NS 6E BRF8 | 11.65 3
NEHRLFE | 60K REFHFM/NE 6D | 8K | 11.70 4
NERZFE | 60K REFHZFM/NES 6C | Finta | 11.78 5
NERZFE | 60K REFHZFM/NES 6B | BZ2E | 11.89 6
NERZFE | 60K REFHZFM/NE 6C | BR=fY | 12.02 7
NEHRLFE | 60K REFHFM/NE 6A | EIFE | 1221 8

25l IEH B 9] M2 REME| BX
NEHRZFAE | 100k | REBHRMBTE/NE 6E B4y | 1537 1
NERLFAE | 100K REBHZA/NE 6A | 2lfPEz | 16.37 2
NERLFAE | 100K REBHZA/NE 6C | &M | 17.55 3
NEHRZFAE | 100k | REBHRMBTE/NE 6E BRIz | 17.58 4
NERLFAE | 100K REBHZA/NE 6B otls | 18.12 5
NEHRZFAE | 100k | REBHRMBTE/NE 6B | B | 1821 6
NEHRZFAE | 100k | REBHRMBTE/NE 6D #E | 1840 7
NEHRZFAE | 100k | REBHRMBTE/NE 6D | FleE5H | 18.76 8

25 IEH 2 9] HE | RERE| BX
NERZFAE | 200k | REBHRMBTE/NE 6A | @S | 36.16 1
NERZFAE | 200k | REBHRMBTE/NE 6E | BEZ | 36.40 2
INERLFAE | 200K REBHZA/NE 6D | [U%E | 37.84 3
NERLFAE | 200K REBHZA/NES 6A | £=3& | 38.60 4
NERLFAE | 200K REBHZA/NES 6C | B | 40.72 5
NERZFAE | 200k | REBHRMBTE/NE 6B | =8 | 47.69 6




R ERAHENEF T ER S ES S

#H 5 IEH B 0] B |RERE BX
INFRZ A | BEIK REBHZFM/NE 6B | = | 1242 1
INFRZ A | BEIK REBHZFM/NE 6C | m%=# | 11.60 2
NERUFH | BEXK | RERHRMTE/NE 6D | 58 | 10.62 3
INFRZ A | BEIK REBHZFM/NE 6D | RSB | 1031 4
INFERZ A | BEK REBHZFM/NE 6B | BFAbE | 9.90 5
NERUFH | BEXK | RERHRWTE/NE 6B | Rk | 9.02 6
NERUFHA | BEXK | RERHRMTE/NE 6E | &B— | 887 7
NERZ A | BEX | RERHARBTE/NE 6B =5 | 879 8

#25 IEH B 0] B |RERE] BX
NERUFHE | B2 | RERHRWTE/NE 6E | BIIK | 2.64 1
NERZFHE | B R REBHZFM/NESE 6D | Fbak | 261 2
NERZFAE | B R REBHZFM/NE 6A | ARIIEN | 2.14 3
NERZFHE | B R REBHZKM/NE 6B | BAiE | 1.84 4
NERUFHE | B2 | RERHRWTE/NE 6B | =i | 1.65 5

#2 5 IEH B 0] M2 |RERE| BX
NERSEFH | 600k | REBHRMTE/NE 6B | EFREA | 9.76 1
NERSEFH | 600k | REBHRMTE/NE 6A | =8 | 10.05 2
NERSEFH | 600k | REBHRMTE/NE 6E BREE | 1046 3
NEHRSFHE | 60K REFHFM/NE 6A | #—= | 1052 4
NERSEFH | 600k | REBHRMTE/NE 6A | #B3EfE | 10.56 5
NEHRSFE | 60K REFHZFM/NES 6D | &EishA& | 10.66 6
NERSEFH | 600k | REBHRMTE/NS 6C | EEX | 1071 7
NERSEFH | 600k | REBHRMTE/NE 6B | F&Hh | 10.81 8

a5l IEH B 9] M2 REME| BX
NERSEFAH | 100K | REBHRWTE/NS 6A | REUK | 15.70 1
NERSFAE | 100k | REBHRMBTE/NE 6D | BT f# | 15.77 2
NERSFAE | 100k | REBHRMBTE/NE 6E PRAEER | 16.37 3
NERSFAE | 100K REBHZA/NE 6B | BEIEFR | 16.85 4
NERSFAE | 100k | REBHRMBTE/NE 6D | EAR% | 17.01 5
NERSFAE | 100K REBHZA/NE 6A | EE= | 17.09 6
NERSFAE | 100k | REBHRBTE/NE 6A | &EZ | 17.14 7
NEHRSFAE | 100k | REBHRMBTE/NE 6C F8 | 20.08 8

25 IEH 2 9] HE | REME| BX
NERSFAE | 200k | REBHRBTE/NE 6E | =HBA | 31.19 1
NERSFAE | 200K REBHZA/NES 6C | =E# | 3455 2
NERSFAE | 200k | REBHRMBTE/NE 6C | Bh&EE | 3531 3
NERSFAE | 200k | REBHRMBTE/NE 6D | BR#&HE | 36.03 4
NERSFAE | 200K REBHZA/NES 6D | H#EH | 3671 5
NERSFAE | 200k | REBHRMBTE/NE 6A | =#5 | 3841 6
NERSFAE | 200K REBHZA/NES 6A | BBA5x | 39.12 7
NERSFAE | 200K REBHZA/NES 6B | PR | 42.02 8




R ERAHENEF T ER S ES S

#H 5 IEH B 0] e REME| 8K
NERBEFAH | WEIK REBHIMKNSE 6C | Br#¥B& | 27.09 1
NERBEFAH | WEIK REBHIMKNSE 6D | BREH | 2034 2
NERBEFAH | WEIK REBHFMKNSE 6D | REE | 19.82 3
NERSFH | BEK | REBHRMTE/NE 6D | =ihiE | 16.74 4
NERBEFAH | WEIK REBHIMKNZE 6A | E=E | 16.02 5
NERBEFAH | WEIK REBHFMKNSE 6A | 258 | 15.97 6
NERSFAH | BEK | REBHRKTENE 6D | fiE | 15.53 7
NERSE A | BEXK | REBHRMTE/NE 6C | BE—% | 13.83 8
NERSE A | BEXK | RERHRMTE/NS 6C | ik | 13.83 8

#2 5 IEH B 0] M2 REME| BX
NERSEFHE | B2 | RERHRWTE/NE 6E | =% | 286 1
NEREFHE | B = REBHZFM/NE 6C | =m& | 2.52 2
NEREFAE| B = REBHZKM/NE 6A | BR#EAD | 249 3
NEREFHE| B = REBHZKMNE 6B | HER | 2.26 4
NERSEFH | B2 | RERHRWTE/NE 6B | Wk | 2.13 5
NERSEFHE | B2 | RERHRWTE/NE 6D | FULIE | 1.95 6
NERSEFHE | B = | RERHRWTE/NE 6A | MBS | 1.93 7




